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Series ZWYX Set-5 

  Q.P. Code>    

 
Roll No. 

 
JqVW ( t̂q²¾apYr)¾ 

(Hyed YqcfRr qeHdp£J \orqIApcXrAp£ Yy dBr) 
(\¥Op^r EdXp) 

MATHEMATICS (BASIC) 
(FOR VISUALLY IMPAIRED CANDIDATES ONLY) 

(Punjabi Version)  
: 3 : 80 

Time allowed : 3 hours Maximum Marks : 80 

 qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM N\y h}By 15 \¥²y¾ h²¾ & 
 \of²¾ \§Wc qeM g§Oy h§X Yy e§d qY§Wy JBy \of²¾ \§Wc H}T ²¥¾v \orqIApcXr E¨Wc 

\tgqWHp Yy `t§I \¥²y¾ E\c qdIV & 
 qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM 38 \of²¾ h²¾ & 
 qHc\p HcHy \of²¾ Yp E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, E¨Wc \tgqWHp qe§M \of²¾ 

Yp n`p£H (grqcAd ²¥¾^c) kcvc qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q ¥̀R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy W§H \orqIApcXr Hyed 
\of²¾ \§Wc ²¥¾v \mª²¾Jy AWy qBg g`z qe§M Eh E¨Wc \tgqWHp qe§M H}Br E¨Wc 
²¾hs qdIVJy & 

 Please check that this question paper contains 15 printed pages. 
 Q.P. Code given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 
 Please check that this question paper contains 38 questions. 
 Please write down the serial number of the question in the  

answer-book before attempting it. 
 15 minute time has been allotted to read this question paper. The 

question paper will be distributed at 10.15 a.m. From 10.15 a.m. to 
10.30 a.m., the students will read the question paper only and will not 
write any answer on the answer-book during this period. 
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:

(i) 38  

(ii)  

(iii) 1 18 
19  20 

(iv) 21 25 (VSA) 

(v) 26 31 (SA) 

(vi) 32 35 (LA) 

(vii) 36 38 

(viii)
2 2 2 

3  

(ix)  = 
7
22   

(x)
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I¥T H 

1 

1. OyHc Y} Z²¾ \vcVp£H x AWy y, x = a3b2  AWy y = ab3 Yy cv\ qeM 

qdIy Op£Yy h²¾, qOXy a AWy b A_pO g¥qIApep£ h²¾, Wp£ HCF  

(x, y) h± : 

(a) ab  (b) ab2 

(c) a3b3  (d) a2b2 

2. Y} g¥qIApep£ 50 AWy 20 Yy `.g. (HCF) AWy d.g. (LCM) Yp 

JtV²¾I¥T h± : 

(a) 10   (b) 100 

(c) 1000  (d) 20 

3. qBH ²¾pqg³c \qc`ya g¥qIAp AWy A\qc`ya g¥qIAp Yp JtV²¾³d 

h± : 

(a) h`yfp A\qc`ya 

(b) h`yfp \qc`ya 

(c) \qc`ya Op£ A\qc`ya 

(d) h`yfp Z²¾pW`H (positive) 
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4. qBH Y}KpWr ^ht\Y qOgYy qg³c 2 AWy 3 h²¾, h± : 

(a) x2 + 5x + 6  

(b) x2  5x  6 

(c) x2 + x  6 

(d) x2  5x + 6 

5. cyIr g`rHcV O}my 3x  5y  2 = 0 AWy  9x + 15y  5 = 0 Yp 

(a) Hyed qBH} qBH hd h± 

(b) qgc³ Y} hd h²¾  

(c) A\qcq`W cv\ qeM A²y¾H hd h²¾ 

(d) H}Br hd ²¾hs h± 

6. OyHc g`rHcV 9x2 + 12x + k = 0 Yy `vd ^cp^c h²¾, Wp£ Y}²~¾ v̀d 
^cp^c h²¾ : 

(a) 
3
2

   

(b)  
3
2

 

(c) 
2
3

   

(d)  
2
3
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7. q^¥Yv (3,  5) Yy x-Ztcy W~ Yvcr h± : 

(a) 3  (b)  3 

(c)  5  (d) 5 

8. OyHc (  3, a), q^¥YvAp£ P(  5, 7) AWy Q(  1, 5) ²¥¾v q`dpV epdy 
cyIpI¥T Yp `§Z q^¥Yv h±, Wp£  Yp `p²¾ h± :   

(a) 1    (b) 6 

(c) 12   (d)  3 

9. Y} g`cv\ qWo_tOp£ Yy \qc`p\ n`epc 28 cm AWy 35 cm h²¾ & 
OyHc \qhdr qWo_tO Yr qBH _tOp Yr d¥^pBr 8 cm h±, Wp£ Yvgcr 
qWo_tO Yr g¥JW _tOp Yr d¥^pBr h± : 

(a) 10 cm   

(b) 8 cm 

(c) 16 cm 

(d) 5 cm 

10. OyHc qWo_tOp£ ABC AWy PQR qeM  B =  Q,  R =  C AWy  
AB = 2PQ h±, Wp£ Y}²~¾ qWo_tO : 

(a) gcep£Jg` h²¾ \c g`cv\ ²¾hs h²¾ 

(b) g`cv\ h²¾ \c gcep£Jg` ²¾hs h²¾  

(c) ²¾p gcep£Jg` AWy ²¾p hr g`cv\ h²¾ 

(d) gcep£Jg` AWy g`cv\ h²¾ 
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11. OyHc qBH g`p£Wc MWtc_tO qBH M§Hc Yy \qcJW (^phc Nv¥hYr) 

h±, Wp£ Eh g`p£Wc MWtc_tO h± : 

(a) qBH ecJ 

(b) qBH ApaW 

(c) qBH g`MWtc_tO 

(d) qBH g`d¥^ 

12. OyHc tan  = 
4
3  h±, Wp£ cos  Yp `p²¾ h± : 

(a) 
5
3

  (b) 
5
4

 

(c) 
7
3

  (d) 
7
4

 

13. OyHc 2 sin A = cosec A h±, Wp£  A ^cp^c h± : 

(a) 30   (b) 60   

(c) 45   (d) 90  

14. OyHc qBH `r²¾pc Yy qgIc Yp EgYy \±c W~ 75 m Yvcr Wy gqXW 

qBH q^¥Yv W~ EMpV H}V 60  h±, Wp£ `r²¾pc Yr EMpBr h± ;  

(a) 75 2  m (b) 50 3  m 

(c) 25 3  m (d) 75 3  m 
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15. OyHc Y} g`HzYcr M§Hcp£ Yy AcZ qeApg 15 m AWy 13 m h²¾, 
Wp£ ^phc ^Vy M§HcpHpc qc¥J (N§dy) Yp IyWc³d (ecJ `rRc 
qeM) h± : 

(a) 176  (b) 178 

(c) 180  (d) 200 

16. 1 W~ 20 WH YrAp£ g¥qIApep£ qeM~ qBH g¥qIAp AMp²¾H q^²¾p 
qeMpcy MtVr JBr & MtVr JBr g¥qIAp Yy A_pO g¥qIAp h}V Yr 
g¥_pe²¾p h± : 

(a) 
20
7

  (b) 
10
3

  

(c) 
2
1

  (d) 
5
2

 

17. OyHc qBH ^pc¥^pcWp e¥T Yy ecJ 1  9, 10  18, 19   
ApqY h²¾, Wp£ ecJ Yp ApHpc h± : 

(a) 8    (b) 9 

(c) 10    (d) 7 

18. OyHc qBH ^pc¥̂ pcWp e¥T Yp `§ZHp (median) AWy ^htdH (mode) 
n`epc 26 AWy 29 h²¾, Wp£ qBg ^pc¥^pcWp e¥T Yp `§Z`p²¾ 
(A¡gW) h± : 

(a) 23.5   (b) 24 

(c) 24.5   (d) 27.5 
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19 20

1 

(A) (R) 

(a), (b), (c) (d)

 

(a) qYomHX²¾ (A) AWy Hpc²¾ (R) Y}²~¾ ghr h²¾ AWy Hpc²¾ (R),  

qYomHX²¾ (A) Yr ghr qeApqIAp HcYp h± & 

(b) qYomHX²¾¾ (A) AWy Hpc²¾ (R) Y}²~¾ ghr h²¾, \c Hpc²¾ (R),  

qYomHX²¾¾ (A) Yr ghr qeApqIAp  HcYp h± & 

(c) qYomHX²¾¾ (A) ghr h±, AWy Hpc²¾ (R) JdW h± & 

(d) qYomHX²¾¾ (A) JdW h±, AWy Hpc²¾ (R) ghr h± & 

19. (A) : 14 cm AcZ qeApg AWy 90  HzYcr H}V epdy 
MHc Yy MHc I¥T Yp IyWc³d 154 cm2 h± & 

 (R) :  AcZ qeApg r AWy HzYcr H}V  epdy M§Hc Yp 

IyWc³d r2 
360

 h± & 

20. (A) : gWhr IyWc³d 616 cm2 epdy J}dy Yp qeApg  
7 cm h± & 

 (R) :  AcZ qeApg r epdy J}dy Yp gWhr IyWc³d 4 r2 
h± & 
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I¥T I 

(VSA) 

2 

21. AOyhrAp£ Y} g¥qIApep£ \Wp Hc} qO²¾ªp£ Yp O}m 75 AWy A¥Wc 25  

h± & 

22. 30 m EMpBr Yy qg§Zy Imy I¥_y Yr ZcWr E\c ^Vr Np£ Yr d¥^pBr 

15 m h± & Eg eHW qBH `r²¾pc Yr ZcWr E\c \±c Yr Np£ Yr 

d¥^pBr 70 m h± & `r²¾pc Yr EMpBr \Wp Hc} & 

23. qg§Z Hc} qH Y} g`HzYcr M§Hcp£ Yy e§Ty M§Hc Yr Orep qOhmy N}Ry 

M§Hc ²¥¾v g\cf HcYr h±, g\cf q ¥̂Yv Wy g`Y}_pO²¾ ht¥Yr h± & 

24. (a) 18 cm AcZ qeApg Yy qBH M§Hc Yr qBH Mp\ Yr d¥^pBr 

10  cm h± & qBg Mp\ cphs HzYc E\c ^qVAp H}V \Wp 

Hc} & 

Op£ 

 (b) qBH ^g Yy \qhBy Yp qeApg 140 cm h± & 66 km/h Yr 

Mpd ²¾pd MdYy h}By qBH q ¥̀R qeM dJpBy M§Hcp£ Yr qJVWr 

\Wp Hc} & 
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25. (a) OyHc tan  = 
7
8

 h±, Wp£ `p²¾ \Wp Hc} : 

 
)cos1()cos1(
)sin1()sin1(

 

Op£ 

 (b) qBH g`H}V qWo_tO ABC qOg qeM  C g`H}V h±, qeM OyHc 
tan A = 3  h±, Wp£ sin A cos B + cos A sin B Yp `p²¾ \Wp 
Hc} &  

I¥T J  

(SA) 

3 

26. qg§Z Hc} qH 5 + 2 3  qBH A\qc`ya g¥qIAp h±, qYWp h± qH 3  

A\qc`ya g¥qIAp h± & 

27. Y}KpWr ^ht\Y x2  5x  6 Yy qg³c \Wp Hc} AWy qB²¾ªp£ qg³cp£ Yy 

^ht\Y Yy JtVp£Hp£ Yy ²¾pd g¥̂ ¥Z Yr gMpBr Yr Op£M Hc} & 

28. (a) hyS¾ qdIy cyIr g`rHcV O}my ²¥¾v hd Hc} : 

  8x + 5y = 9;  3x + 2y = 4 

Op£ 
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 (b) Y} `²§¾tIp£ Yr Ap`Y²¾ Yp A²¾®\pW 9 : 7 h± OYqH E²¾ªp£ Yy 
IcM Yp A²¾®\pW 4 : 3 h± & OyHc hc qBH `²§¾tI < 2,000 
Yr gpdp²¾p ^MW Hc d|Yp h±, Wp£ E²¾ªp£ Yr gpdp²¾p Ap`Y²¾ 
\Wp Hc} &  

29. (a) qBH M§Hc MWtc_tO ABCD YrAp£ gpcrAp£ _tOpep£ ²¥¾v g\cf 
HcYp h± & qg§Z Hc} qH AB + CD = BC + AD. 

Op£ 

 (b) qg§Z Hc} qH qHgy M§Hc Yy qHgy qeApg Yy qgqcAp£ Wy 
qIMrAp£ g\cf cyIpep£ Ap\} qeM g`p£Wc ht¥YrAp£ h²¾ & 

30. qg§Z Hc} : 
 (cosec A  sin A) (sec A  cos A) (tan A + cot A) = 1 

31. Y} \pqgAp£ (dvT} YrAp£ JrRrAp£) ²¥¾v qBHqS¾Ap£ ENpqdAp qJAp & 
Y}²¾p£ \pqgAp£ Wy \pBrAp£ g¥qIApep£ Yp O}m 10 Op£ 10 W~ KR h}V 
Yr g¥_pe²¾p \Wp Hc} & 

I¥T K  

(LA) 

5 

32. (a) A¥HJqVqWH dmr (A.P.) Yy \qhdy 9 \Yp£ Yp O}m 171 h± 
AWy qBgYy \qhdy 24 \Yp£ Yp O}m 996 h± & qBg 
A¥HJqVqWH dmr Yp 20ep£ \Y \Wp Hc} & 

Op£ 
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 (b) qW²¾ Hc`pJW (dmr epc) \opqHqcW g¥qIApep£ qBg \oHpc 

h²¾ qH \qhdy Yp ecJ AWy ^pHr Y} Yy JtV²¾³d Yp O}m 

154 h± & g¥qIApep£ \Wp Hc} & 

33. OyHc qHgy qWo_tO Yr qBH _tOp Yy g`p£Wc ^pHr YrAp£ Y} _tOpep£ ²¥¾v 

eI eI q ¥̂YvAp£ Wy HRYr qBH gcd cyIp qIMr Op£Yr h±, Wp£ qg§Z 

Hc} qH qBh ^pHr Y} _tOpep£ ²¥¾v qBH hr A²¾®\pW qeM e¥TyJr & 

34. (a) Y}m Yp qBH Rc±H, Y} g¥HyYcr M§Hcp£ Yy qc¥J Yy cv\ qeM  

h± & ^phcr AWy A¥Ycv²¾r M§Hcp£ YrAp£ \qcZrAp£ Hc`epc 

616 m AWy 528 m h²¾ & qBg Rc±H Yr M¡mpBr AWy IyWc³d 

\Wp Hc} & 

Op£ 

 (b) qBH S}¾g qIT}Vp, qBg AcZ J}dy E\c O}my f¥Hv (H}²¾) Yy 

ApHpc Yp h± & Y}²¾p£ Yy AZpcp£ Yp qeApg 14 cm h± AWy 

f¥Hv Yr EMpBr 24 cm h± & qIT}Vy Yp \vcp gWhr IyWc³d 

AWy ApqBW²¾ \Wp Hc} & 
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35. hyS¾ qdIr ^pc¥̂ pcWp e¥T Yp ^htdH \Wp Hc} : 

  

0  20 15 

20  40 18 

40  60 21 

60  80 29 

80  100 17 

qYWp h}qBAp h± qH E\c}HW ^pc¥̂ pcWp e¥T Yp `§Z`p²¾ (mean) 
53 h±, Wp£ A²¾®_er gvWc (empirical formula) Yr ecW~ HcHy 
`§ZHp (median) \Wp Hc} &  

I¥T L 

3 

4  

\oHcV AqZA±²¾  1 

36. qBH ³±HRcr qeM Hpcp£ ^VpBrAp£ Op£YrAp£ h²¾ AWy hc gpd qBH 
q²¾fqMW g¥qIAp qeM ^V²¾ epdrAp£ Hpcp£ Yr qJVWr eZYr Op£Yr 
h± & qBg ³±HRcr qeM M¡Xy gpd qeM 80,000 Hpcp£ ^VpBrAp£ 
JBrAp£ AWy gWez gpd 1,10,000 Hpcp£ ^VpBrAp£ JBrAp£ & 

 E\c}HW Yy ApZpc Wy hyS¾ qdIy \of²¾ Yy E¨Wc qYG : 

(a) \qhdy gpd qeM ^VpBrAp£ JBrAp£ Hpcp£ ²¥¾v  d± Hy AWy 
qOg q²¾fqMW g¥qIAp qeM hc gpd Hpcp£ Yp epZp h} qJAp 
h± Eg²¥¾v d±Hy M¡Xy gpd qeM ^VrAp Hpcp£ Yy dBr AWy 

qeM qBH g¥ ¥̂Z qdI} & 1 
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(b) gWez gpd qeM  AWy  qeM g¥̂ ¥Z qdI} & 1 

(c) E\c}HW Y} g`rHcVp£ Yy hd W~  \Wp Hc} & 2 

Op£ 

(c) E\c}HW Y} g`rHcVp£ Yy hd W~  \Wp Hc} & 2 
 

\oHcV AqZA±²¾  2 

37. 5 `r. FMr qBH `r²¾pc Yy qgIc E\c qBH P¥Ty Yp T¥Tp dJp 

h}qBAp h± & ZcWr Yy qBH q ¥̂Yv W~ T¥Ty Yy qgIc Yp EMpV H}V 60  

h± AWy `r²¾pc Yy qgIc Yp EMpV H}V 45  h± & 

E\c}HW Yy ApZpc Wy hyS¾ qdIy \of²¾p£ Yy E¨Wc qYG : 

(a) qBg q ¥̂Yv AWy `r²¾pc Yy \±c qeM Yvcr qHW²¾r h± ? 1 

(b) P¥Ty Yy T¥Ty Yr EMpBr qHW²¾r h± ? 1 

(c) OyHc qBH Yvgcy q ¥̂Yv W~ `r²¾pc Yy qgIc Yp EMpV H}V 30  

h± Wp£ qBg ²¾ez q^¥Yv Yr `r²¾pc Yy \±c W~ Yvcr \Wp Hc} & 2 

Op£ 

(c) `r²¾pc Yy qgIc q^¥Yv AWy ²¾ez q ¥̂Yv qOg E\c `r²¾pc Yy 

qgIc q^¥Yv Yp EMpV H}V 30  h±, Yy Ycq`Ap²¾ Yvcr \Wp 
Hc} &  2 
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\oHcV AqZA±²¾  3 

38. qBH MWtc_tO ABCD Yy qgIcp£ Yy q²¾cYyfp£H A(3,  1), B(4, 4), 

C(  1, 3) AWy D(  2,  2) h²¾ & qBh OpV²¾ Yy dBr qBh qHg \oHpc 
Yp MWtc_tO h±, hyS¾ qdIy \Wp Hc} : 

(a) AB AWy CD YrAp£ d¥^pBrAp£ \Wp Hc} & 1 

(b) BC AWy AD YrAp£ d¥^pBrAp£ \Wp Hc} & 1 

(c) AC AWy BD YrAp£ d¥^pBrAp£ \Wp Hc} & 2 

Op£ 

(c) AC AWy BD Yy `§Z q ¥̂Yv \Wp Hc} & 2 

 


